Chapter 19. PQ 19.
Let us go back to Circular File's market value balance sheet:

	
Net working capital
	$20
	$25
	Bonds outstanding

	Fixed assets
	10
	5
	Common stock

	Total assets
	$30
	$30
	Total value



Who gains and who loses from the following maneuvers?
a. Circular scrapes up $5 in cash and pays a cash dividend.
b. Circular halts operations, sells its fixed assets, and converts net working capital into $20 cash. Unfortunately the fixed assets fetch only $6 on the secondhand market. The $26 cash is invested in Treasury bills.
c. Circular encounters an acceptable investment opportunity, NPV = 0, requiring an investment of $10. The firm borrows to finance the project. The new debt has the same security, seniority, etc., as the old.
d. Suppose that the new project has NPV = +$2 and is financed by an issue of preferred stock.
e. The lenders agree to extend the maturity of their loan from one year to two in order to give Circular a chance to recover.

Chapter 16. PQ 16.
In 2001 the Pandora Box Company made a rights issue at €5 a share of one new share
for every four shares held. Before the issue there were 10 million shares outstanding
and the share price was €6.
 
a. What was the total amount of new money raised?
b. What was the value of the right to buy one new share?
c. What was the prospective stock price after the issue?
d. How far could the total value of the company fall before shareholders would be unwilling to take up their rights?

Chapter 16. PQ 17.
Practice Question 16 contains details of a rights offering by Pandora Box. Suppose that the company had decided to issue new stock at €4. How many new shares would it have needed to sell to raise the same sum of money? Recalculate the answers to questions (b) to (d) in Practice Question 16. Show that the shareholders are just as well off if the company issues the shares at €4 rather than €5.

Chapter 17. CQ 23.
Consider the following two statements: "Dividend policy is irrelevant," and "Stock price is the present value of expected future dividends." (See Chapter 5.) They sound contradictory This question is designed to show that they are fully consistent. 
The current price of the shares of Charles River Mining Corporation is $50. Next year's earnings and dividends per share are $4 and $2, respectively. Investors expect perpetual growth at 8% per year. The expected rate of return demanded by investors is r = 12%.
We can use the perpetual-growth model to calculate stock price:

Suppose that Charles River Mining announces that it will switch to a 100% payout policy, issuing shares as necessary to finance growth. Use the perpetual-growth model to show that current stock price is unchanged.



Chapter 17. CQ 26.
Suppose that there are just three types of investors with the following tax rates:

	
	Individuals
	Corporations
	Institutions

	Dividends
	50%
	    5%
	0%

	Capital gains
	15
	  35
	0



Individuals invest a total of $80 billion in stock and corporations invest $10 billion. The remaining stock is held by the institutions. All three groups simply seek to maximize their after-tax income.
These investors can choose from three types of stock offering the following pretax payouts: 

	
	Low Payout
	Medium Payout
	High Payout

	Dividends
	$ 5
	$5
	$30

	Capital gains
	   15
	  5
	    0



These payoffs are expected to persist in perpetuity. The low-payout stocks have a total market value of $100 billion, the medium-payout stocks have a value of $50 billion, and the high-payout stocks have a value of $120 billion.

a. Who are the marginal investors that determine the prices of the stocks?
b. Suppose that this marginal group of investors requires a 12% after-tax return?
c. What are the prices of the low-, medium-, and high-payout stocks?
d. Calculate the after-tax returns of the three types of stock for each investor group.
e. What are the dollar amounts of the three types of stock held by each investor
group?

Chapter 18. PQ 14.
 "MM totally ignore the fact that as you borrow more, you have to pay higher rates of interest." Explain carefully whether this is a valid objection.

Chapter 18. PQ 19.
Archimedes Levers is financed by a mixture of debt and equity. You have the following information about its cost of capital:

	
	
	


	
	
	


	
	
	




Can you fill in the blanks?

Chapter 18. CQ 24.
People often convey the idea behind MM's proposition 1 by various supermarket analogies, for example, "The value of a pie should not depend on how it is sliced," or, "The cost of a whole chicken should equal the cost of assembling one by buying two drumsticks, two wings, two breasts, and so on."
Actually proposition 1 doesn't work in the supermarket. You'll pay less for an uncut whole pie than for a pie assembled from pieces purchased separately. Supermarkets charge more for chickens after they are cut up. Why? What costs or imperfections cause proposition 1 to fail in the supermarket? Are these costs or imperfections likely to be important for corporations issuing securities on the U.S. or world capital markets? Explain.



Chapter 19. Quiz 6. 
On February 29, 2009, when PDQ Computers announced bankruptcy, its share price
fell from $3.00 to $.50 per share. There were 10 million shares outstanding. Does that
imply bankruptcy costs of 10 X (3.00 - .50) = $25 million? Explain.

Chapter 19. PQ 24.
The possible payoffs from Ms. Ketchup's projects (see Section 19.3) have not changed but there is now a 40% chance that project 2 will pay off $24 and a 60% chance that it will pay off $0.
a. Recalculate the expected payoffs to the bank and Ms. Ketchup if the bank lends the
present value of $10. Which project would Ms. Ketchup undertake?
b. What is the maximum amount the bank could lend that would induce Ms. Ketchun
to take project 1?

Chapter 20. PQ 19.
Consider a project to produce solar water heaters. It requires a $10 million investment and offers a level after-tax cash flow of $1.75 million per year for 10 years. The opportunity cost of capital is 12%, which reflects the project's business risk.
a. Suppose the project is financed with $5 million of debt and $5 million of equity.
The interest rate is 8% and the marginal tax rate is 35%. The debt will be paid off in
equal annual installments over the project's 10-year life. Calculate APV.
b. How does APV change if the firm incurs issue costs of $400,000 to raise the $5 million
of required equity?

Chapter 20. PQ 21.
The Bunsen Chemical Company is currently at its target debt ratio of 40%. It is contemplating a $1 million expansion of its existing business. This expansion is expected to produce a cash inflow of $130,000 a year in perpetuity.
The company is uncertain whether to undertake this expansion and how to finance it. The two options are a $1 million issue of common stock or a $1 million issue of 20-year debt. The flotation costs of a stock issue would be around 5% of the amount raised, and the flotation costs of a debt issue would be around 1.5%.
Bunsen's financial manager, Miss Polly Ethylene, estimates that the required return on the company's equity is 14%, but she argues that the flotation costs increase the cost of new equity to 19%. On this basis, the project does not appear viable.
On the other hand, she points out that the company can raise new debt on a 7% yield, which would make the cost of new debt 8.5%. She therefore recommends that Bunsen should go ahead with the project and finance it with an issue of long-term debt.
Is Miss Ethylene right? How would you evaluate the project?

